
  
 
      
  
 
 
          
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
  
  
 
 
 
 
 
 
 
  

T

     1  1/4” R Ha
     1  1/4” L Ha
     4  .34” Thic
     3  .16” Thic
     1  1/4” Jam
     2  1/4” Jam
 

1. Bolt 
Link
End

2. Note
hand
threa

3. The 
you 
first 
1/4” 

NOTE:  C
Loca
will p
ensu
bind

4. Bolt 
usin
Carb
this 

5. Use
Rod
bind

6. Bolt 
peda
Was

 For Technical A
 at (203) 458-05
 
                   CO
              80 CAR
           Phone: 

  
Visit Us A

Rev. B (07191
              

  
HROTTLE LINKAGE KIT 

P/N C3465 
 

Parts List 
 

nd Rod End  2  1/4” Washer 
nd Rod End  2  1/4” Locnut 
k Carb Bushing 1  1/4” x 1-1/2” HHCS 
k Carb Bushing 1  1/4” x 1-3/4” HHCS 
 Nut L Hand  1  Carb Spring Bracket 
 Nut R Hand  1  Throttle Linkage Rod 

Installation Instructions 

THROTTLE LINKAGE KIT 
P/N C3465 

 
Parts List 

 
     1  1/4” R Hand Rod End  2  1/4” Washer 
     1  1/4” L Hand Rod End  2  1/4” Locnut 
     4  .34” Thick Carb Bushing 1  1/4” x 1-1/2” HHCS 
     3  .16” Thick Carb Bushing 1  1/4” x 1-3/4” HHCS 
     1  1/4” Jam Nut L Hand  1  Carb Spring Bracket 
     2  1/4” Jam Nut R Hand  1  Throttle Linkage Rod 
 

Installation Instructions 

THROTTLE LINKAGE KIT 
P/N C3465 

 
Parts List 

 
     1  1/4” R Hand Rod End  2  1/4” Washer 
     1  1/4” L Hand Rod End  2  1/4” Locnut 
     4  .34” Thick Carb Bushing 1  1/4” x 1-1/2” HHCS 
     3  .16” Thick Carb Bushing 1  1/4” x 1-3/4” HHCS 
     1  1/4” Jam Nut L Hand  1  Carb Spring Bracket 
     2  1/4” Jam Nut R Hand  1  Throttle Linkage Rod 
 

Installation Instructions 

one of the Rod Ends to the carburetor 
age Rod after installing a Jam Nut on the Rod 
. 
 that the Linkage Rod is threaded with a right 
 thread on one end and with a left hand 

1. Bolt one of the Rod Ends to the carburetor 
Linkage Rod after installing a Jam Nut on the Rod 
End. 

2. Note that the Linkage Rod is threaded with a right 
hand thread on one end and with a left hand 

1. Bolt one of the Rod Ends to the carburetor 
Linkage Rod after installing a Jam Nut on the Rod 
End. 

2. Note that the Linkage Rod is threaded with a right 
hand thread on one end and with a left hand 
 

           

      

d on the other end. 
Linkage Rod can be bent or cut to length but 
may have to re-thread the cut end. Do this by 
drilling the rod with a 7/32” drill bit then use a 
x 28 tap. 
ut the end with the right hand threads. 
te the point at which the throttle Linkage Rod 
ass through the fire wall and drill a hole to 
re the rod will pass through without any 

ing. 
the Throttle Linkage Rod to the carburetor 
g the 1-3/4” bolt, the Carb Spring Bracket and 
 Spring Bushings, and Washers supplied in 

kit. Retain with a Loc-nut. 
 the Bushings to space the Throttle Linkage 
 out from the Carburetor. Ensure there is no 
ing. 
the other end of the linkage rod to the gas 
l using the 1-1/2” Bolt supplied Bushings and 

thread on the other end. 
3. The Linkage Rod can be bent or cut to length but 

you may have to re-thread the cut end. Do this by 
first drilling the rod with a 7/32” drill bit then use a 
1/4” x 28 tap. 

NOTE:  Cut the end with the right hand threads. 
Locate the point at which the throttle Linkage Rod 
will pass through the fire wall and drill a hole to 
ensure the rod will pass through without any 
binding. 

4. Bolt the Throttle Linkage Rod to the carburetor 
using the 1-3/4” bolt, the Carb Spring Bracket and 
Carb Spring Bushings, and Washers supplied in 
this kit. Retain with a Loc-nut. 

5. Use the Bushings to space the Throttle Linkage 
Rod out from the Carburetor. Ensure there is no 
binding. 

6. Bolt the other end of the linkage rod to the gas 
pedal using the 1-1/2” Bolt supplied Bushings and 

thread on the other end. 
3. The Linkage Rod can be bent or cut to length but 

you may have to re-thread the cut end. Do this by 
first drilling the rod with a 7/32” drill bit then use a 
1/4” x 28 tap. 

NOTE:  Cut the end with the right hand threads. 
Locate the point at which the throttle Linkage Rod 
will pass through the fire wall and drill a hole to 
ensure the rod will pass through without any 
binding. 

4. Bolt the Throttle Linkage Rod to the carburetor 
using the 1-3/4” bolt, the Carb Spring Bracket and 
Carb Spring Bushings, and Washers supplied in 
this kit. Retain with a Loc-nut. 

5. Use the Bushings to space the Throttle Linkage 
Rod out from the Carburetor. Ensure there is no 
binding. 

6. Bolt the other end of the linkage rod to the gas 
pedal using the 1-1/2” Bolt supplied Bushings and 
hers. Washers.  Washers. 

ssistance, Call Competition Eng. Tech Line              For Technical Assistance, Call Competition Eng. Tech Line                For Technical Assistance, Call Competition Eng Tech Line 
42, 458-0546 8:30am – 5:00pm Eastern Time                          at (203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time                  at (203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 
MPETITION ENGINEERING                    COMPETITION ENGINEERING              COMPETITION ENGINEERING 
TER DR • GUILFORD, CT 06437                  80 CARTER DR • GUILFORD, CT 06437       80 CARTER DR • GUILFORD, CT 06437 
(203) 453-5200 • Fax: (203) 453-6906 Phone: (203) 453-5200 • Fax: (203) 453-6906    Phone: (203) 453-5200 • Fax: (203) 453-6906 

         
t www.competitionengineering.com Visit Us At www.competitionengineering.com Visit Us At www.competitionengineering.com 

1)    C3465INST     Rev. B     (071911)          C3465INST                        Rev. B      (071911)                              C3465INST  


	For Technical Assistance, Call Competition Eng. Tech Line   
	at (203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time    
	COMPETITION ENGINEERING                    COMPETITION ENGIN
	80 CARTER DR ( GUILFORD, CT 06437                  80 CARTER DR ( GUILFORD, CT 06437       80 CARTER DR ( GUILFORD, CT 06437

	Phone: (203) 453-5200 ( Fax: (203) 453-6906 Phone: (203) 453-5200 ( Fax: (203) 453-6906    Phone: (203) 453-5200 ( Fax: (203) 453-6906

